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5.1
5.1.1
n
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5.1.1

quadratic programming SQP . 5.1.1
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s=1-x" i=12 n.
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5.19 L= 0.375 4.3.1
S
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s VL x* A" 0 s>0.

1.5.2
x* = 27.4146 0.8981317 74.66637 '
5.3.2
mnf x = x;, -2 2+x§
st.gg X = x-1 Z+ X, -1 ?.1=0
X; %, =0.
x®=o00"T
5.1
x2‘
1
0 1 2 xl;
5.1 5.3.2
x= 10"
KT
2x, -4 2 0 2%, - 2
Vi x =| szx:( ) Vg, x = '
-4 -2
Vf x ° =( 0) Vg, x ° =(_2) 0, x% =1 xl0 -0=0 xzO -0=0
x®=00"
mns +< - 4s
S.t.-25-25=-1
=0 s=0.
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5. 20. hy hy <>
e 5.21.
5.20 0 5.21
=} e, € h, € €
h, | 2* 0 2 -4 e | 0.5 0 -1 2
h, 0 2 2 0 h, 0 2 2 0
a -2 -2 0 1 a -1 -2 2 -3
5.21 a, e, 5.22.
5.22
h; € a,
e 0 ] -0.5 0.5
h, 1 1 3
e 0.5 1 0.5 1.5
5.22
s’ =0.5 s° =0
X, =0+0.5=0.5 x,' =0+0=0.
5. 23 X k+1 =x +s k
5.23
k x K s X
0 00 0.5 0
1 0.5 0 0.25 0
2 0.75 0 0.125 0
3 0.875 0 0.0625 0
4 0.9375 0 0.03125 0
5 0.96875 0 0.015625 0
6 0.984375 0 0.0078125 0
7 0.9921875 0 3.90625x10°% 0
8 0.99609375 0 1.953125 x10° % 0
9 0.99804688 0 9.765625 x10 % 0
10 0.99902344 0 4.882813x10°* 0
11 0.99951172 0 2.441406 x10°* 0
12 0.99975586 0 1.220703 x10°* 0
13 0.99987793 0 6.103516 x10°° 0
14 0.99993896 0
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5.23 x ¥ = 0.99993896 0 ' x* =

10"
5.3.3
mnf x =x +x
s.t.g; X :xf+x2—1>0
X=-1 x=0.
x°=00".
2 2 2x
VX = sz:( ) Vo, x =
X, 0 2
x®=o00"
min§+§
s.t. s=1
s=-1 s=0.
5.24 5.26
5.24 0 5.25
€ € €3 € & h,
h, 2 0 0 -2 h, 2% 0 0 1
h, 0 2 1 0 e 0 2 1 2
ay 0 1" 0 -1 € 0 1 0 1
5.26
h; a h,
e 0.5 0 0 1
& 0 2 1
= 0 1 0 1
5.26
5’ =1-1=0 §° =1+0=1.
1
1_ _ 1_ -
x' =0+0=0 x,b =0+1=1.
x'=o01"
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min§+§+252
s t. s, =0
§=-1 s=-1.
5.24 5.26
st =1-1=0 s' =1-1=0.
x*=01"T KT
fx* =1
x= A1-A>T o0<|al<1
1- A% +A% <1,
5.4
X
5.1.5
min%sTVika A p,k s+ Vi x“ Ts
st Vg x* Ts+g x* =0 i=12 |
Vg x* Ts+g x* =0 i=l+11+2
§ = | xik i=12 n.
s=x-x"
m n
LxAp =fx - Y g x - > w X -
i=1 i=1
0
AO
5.4.1 KT
Ll x* oAk oo magjxk +aka 0
2, 9%, OX S° 2 X N ax
j=1 14 j=1 i i
n G-Xk
3 % s+g x =0 i=12 |
=1 9%
" ag; x € .
> 9 §+glxk =0 i=1+11+2
i=1 0%
s;ll—xik i=12 n
A=0 i=1+11+2 m
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j=1 j=1 X, 9%
i=12 n
n ag. Xk
A-( 9B X g x K )=0 i=l+11+2 m
I jg‘l GXJ- % g
5.4.2
Sk /\k+lﬂk+l . ViLXk Ak 0
A% =02F k-1 KT k=1 2
5.4.1 5.3.3.
2 0
X V29, X = . x®=00"
O1 01 (O O)
A° =0
2 0
2 0 0 2 0
ViL X Ay 0 =V x =(0 2).
5.3.3. 5.26
5° =1-1=0 s° =1+0=1 A," =2.
1 x' =0 x' =1,
x=01" At =2
-2 0
Vib xt At 0 = VEx ' - at VP x ! :(O 2)

Vix' =02" Vg x' =017 g x' =o.

min - ﬁ +§ +2s,
s. t. s, =0
§=-1 5=-1.
5.27 5.28
5.27 0 5.28
e & & e a h,
h, -2 0 0 2 h, 2 0 0 2
h, 0 2 -1° 0 e 0 1
& 0 1* 0 1 € 0 1 0 1
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5.28
st =-1 s' =1-1=0 A% =2
1
x12 = x22 =1
5.29 x Kt =x K o4k
5.29
K Xlk X2k A k S_l_k Szk A k+1
0 00O 012
1 012 -1 0 2
2 | 112 1.1
3 - g % % - 0.05128211 - 0.1794872 0.9743589
4 - 0.7179487 0.4871795 0.9743589 1.062796 x 102 1.263082 x10° 2 0. 9996206
5 - 0.7073208 0.4998103 0.9996206 2.139807 x10°* 1.896918 x10™* 0.9999999
6 - 0.7071068 0.5 0.9999999 5.960464 x10° % 2.980232x10°8 1
7 -0.7071068 0.5 1
529 |s® || <107*
x ' = -0.7071068 0.5 '.
0. 75.
20
5.4.2
mnf x =-x +10 x12+x22- 1
s.t. g X :x12+x22- 1=0
X; %, =0.
x° =10806 "
f x 0, X
Vf x =(20X1_1) vt x =(20 O) Vg, X =(2X1) Vg, X =(2 0
20X, 0 20 2X, 0 2
k=0
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min 10 +10s; +15s, +12s,
s.t.1.6s +1.2s,=0

5=-0.8 s=-0.6.
5. 30. a, e h;oe 5.31.
5.30 0 5.31
€ € € a € hy
h; 20 0 -1.6" -1 € |7.8125 -9.375-0.625 15
h, 0 20 -1 0 h, |-9.37531.25* 0.75 - 18
a, 1.6* 1.2 0 -2 € |0.625 -0.75 0 1.25
5.31 h,<e, 5.32.
5.32
& h, h,
€; 5 -0.3 -0.4 9.6
€, 0.3 0.032 -0.024 0.576
€ 0.4 -0.024 0.018 0.818
5.32
5° =0.818-0.8=0.018 s, =0.576-0.6=-0.024 A," =9.6.
1
x,” =0.8+0.018=0.818 x," =0.6- 0.024 =0.576.
5.33 x T o=x Kok,
5.33
K >(]-k sz A k S_[k Szk A k+1
0 0.8 0.6 0 1.799995 x 10" - 2.399999 x10 > 9.6
1 0.818 0.576 9.6 0.4050442 - 0.576 9.586819
2 1.223044 0 9.586819 - 0.2027061 0 9.522705
3 1.020338 0 9.522705 - 0.0201354 0 9.500546
4 1.000203 0 9.500546 -2.026558 x10°% 0 9.5
5 1 0 9.5 0 0 9.5
6 1 0 9.5
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x®=10"
13
5.4.3
min f x :xf+x§+2x§+x‘21-5xl-5x2-21x3+7x4
s.t.g; X =—xi—x§—x§—xﬁ-x1+x2—x3+x4+8>0
g, X :-xi-2x§-x§-2xi+x1 +%, +10=0
g; X :—2xf—x§-x§ - 2% +tX, +X +5=0

Xp X X3 X4 =- 1.

x°=0000".

szl- 5 D D-
o EZXZ -5 B g B-
X = X =
Oiy, - 210 0.
02x, +7 0 u-
o 4X1- 2|:|
Vg; x =
o 1 [l
2 0
0, 0
Vit x =0 0 V?g, x
O 4 0
g g
O 20
0-2 0
0 .4 0
Vg, x =U O
G2 0 -2 O
g O
[l - 40
0
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x°=0000" A°-=

" 28 +2 +45 +25
2

2x; - 1
2%, +17
2x, - 1U
2x, +10

000"

- 55, - 5s, - 21s; + 75,

I o
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S.t. - +s, -5 +5=-8

s +5=-10
-2s +5 +5=-5
s=-1 i=1234.
KT
0 _ T
s’ = 25 2552 -1
AL =A, =253 =0. 1
x' =x% +s% =25 25 52 -1"
5.34 x Kt o=x k 4k
5.34
Xk Ak sk Ak+l
x®=0000 a2°=000
s®=252552 -1 x'=000
x' =252552 -1 s' = -1.0068%6 -1.331217 -1.913624 0
A2 = 0.6656084 0 O
x 2 = 0.5031744 1.168783 3.336376 -1
s? = -0.280081 0.0441637 - 1.160012 O
A% = 1.200554 0 0.5899626
x 3 = 0.2140034 1.212947 2.176364 -1
s® = -0.2155174 -0.2333668 - 0.1179011 O0.053167
A% = 1.247717 0 1.500412
x % = -1.423055x10° % 0.97958 2.058463 - 0.946833
s% = -1.43M52x10°% 2.226841x10° 2 - 5.720139x10° 2 - 5.316699 x10" 2
A% = 0.973902 0 2.022375
x® = -0.0015679 1.001848 2.001262 - 1

s® = 1.567245x10°% - 1847982 x10°° - 1.257896 x 10" % 4.072179 x10°®

A% = 1.000016 0 1.999968

x® = -6.556511x10" 7 1 2.000004 - 0.9999959
s® = 1.370007x10°% -2.384186x10°7 - 3.000442x10°®
A7 = 1.000002 O 1.999995

- 3.316117 x10"©

x 7 = 7.152557 x10° ' 1 2.000001 - O.9999993

Is® | <107*
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182

x* = 7.152557 x10"’ 1 2.000001 - 0.9999993 '
f x* =-44.
51
5.5
m n 2
PxAu =fx - Z)\Ig,x - z,ul X - +fz (giX )
i= i=1 iel”®
5.5.1
r |
ViP X A
_ 2 2
0 G x =(g x)° VG x
i j
9’G x 90, X 99 X o’g x
93 X (98 X X .96 ij=12 n
9%, 0% 9%, X, 9%, 0%
5.1.5
n%sTVikaAk/uks+fok Ts B
K T _ K . g
st Vg x 's=-g x =12 | O 5.5.2
Vg, x ¥ Ts=-g x* i=l+11+2 mé
s=x-x KT
k
zn‘asz",\ko _iagjx -+a]ch 0 i=12 n
i=1 9% 9X; 3 =1 9% : ax




m

" 9g; X
zg, §+gixk =0 i=I1+11+2
=
s;li-x,k i=12 n
Ai=0 i=1+11+2 m
n o2 k k m VLS k
($-|.+Xik)(zapx A oq_zég,x ) 4 X
=1 9% 0% =, X
i =12
" ag X ¢ Kk | = -
A AT 5 +0 X =0 i=Il+11+2 m
2 §+9
=9
Sk Ak+1[.l,k+l . V)Z(PXk
A% =02F" k-1 KT k=12
5.5.1
mnf X = exp X;XX3X; X5
stg X =X +X%+X+X +xX -10=0
O, X = XoX3 - SX%X; =0
O; X =xf+x§+1=0
Xp Xop =- 2.3 X3 X4 X5 =- 3.2,
x°=-222 -1 -1".
Y = Xq Xp Xg Xy Xs -
EXZX3X4X59yB 208
[?(1X3X4xseyD XZB
Vi x :E?(lxzx[lxseyg Vgl X :E2X3B
0
§<1X2X3X5eya %X“H
U
Ly %o %5 %, €7 1 -2
00 o (8% [
Oy O O ,0
00 (3%0
ngx:DXZDVggx:DOD
g 5 0 g~ o
H % HO H
O0- 5x,0 Og O
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V2 x i
9%f x >
= J] x¢i=12345
aXiZ k=1 ki
[ j
0°f x >
= X, y+1 €& 1j=12345 i#]
9X; X, k=1 L[i kl;j
2 0 00 0 0f
B 2 E Eb 01 O o%
Vg, X =[] 2 o Vg x = 1.0 0 0
g 2 U b o o o -s5U
0 0 O 0
0 200 @ 00 -5 00O
A2 0
U 6 |
0 0
Vg, x =g 0 0
O 0 OJ
0 0
0 o0
(g, x )? 5.5.1 1" = 1
r=1. x®= -222-1-1"T

48.0054 -32.0047 -32.0047 16.0094 16.00%4 [ﬁg

. 5-32.0047 48.0054  32.0047 —16.0094—16.0094E 0
mn s s s [0-32.0047 320047 48.0054 - 16.0004 -16.0094[5538
516.0094 -16.0004 - 16.0094 24.0215 8.0188 L,

[016.0004 -16.0004 -16.0004 8.0188 24.0215 [ H

.
]

+1.34185%x10°° 5 -5, -5, +2.683701 %10 ° s, +5
S.t. - 45 +4s, +4s; - 25, - 25, +4 =0
2s, +2s; +55, +55 - 1 =0
12s, +12s, +1=0
5=-03 $=-43 =-52 §=-2.2 §=-2.2.

s = 0.2256943 - 0.3090272 - 0.2528944 0.2123842 0.2123842 '

Al = -0.129627 0.2315068 - 0.07485056 .
5.35 X =X +S
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k X k A k s k A k+1

x°= -222-1-1 a%°=000

s® = 0.2256943 - 0.3090272 - 0.2528944 0.2123842 0.2123842

Al = -9.129627 0.2315068 - 0.07485056

x 1 = -1.774306 1.690973 1.747106 - 0.7876158 - 0.7876158

s’ = 6.212771 x10°° - 3.590822 x 10°% - 1.752138 x 10 > 0. 0304389
3.043962 x 10" ?

AZ = -0.7886386 0.1367941 - 4.789114 x10 2

x 2 = -1.768093 1.655065 1.729584 - 0.7571769 - 0.7571762

s? = 4.331827 x10°® - 5.709171 x 10" % 8.805275 x 10" ® - 9. 36985 x
10°° - 8.845329x10°°

A3 = -4.798394x10°% 3.919566 x10 2 - 4.951268 x10 3

x 3 = -1.763761 1.649355 1.738389 - 0.7572706 - 0.7572646

s® = 0.0388326 - 4. 441404 x 10°° 0. 0759716 - 6. 361723 x 10 °

- 6.327868 x 10" °

A% = -4.012999x107? 3.753117 x10°? - 4.847921 x10 3

x4 = -1.724928 1.604941 1.814361 - 0.7636323 - 0.7635925

s* = 6.150544 x10 ® - 7.331848 x10 ® 9.876251 x10" % 1.504421 x10"*
1.189709 x 10" *

A° = -5.883758x10 2 3.796491 x10 > - 5.16513 x10"°

x° = -1.718778 1.59761 1.824237 - 0.7634819 - 0.7634735

s® = 1.275599 x 10°° - 1.483917 x 10" % 2.342224 x10"® - 1. 111031 x
10°* - 1.416206 10" *

A% = -0.0405543 3.795841x10 ? - 5.210191 x10 *

x % = -1.717502 1.596126 1.82658 - 0.763593 - 0.7636151

s® = 3.212004 x10°* - 3.728867 x10°* 5.970001 x 10" ¢ - 3.576279 x
10°° - 3.480911 x10°°

A7 = -4.017697 x10 ? 3.795754 x10 ? - 5.220445 x 10" °
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k X k A k s k A k+1
x 7 = -1.717181 1.595753 1.827177 - 0.7636287 - 0.7636499
. s’ = -4.410744 x10°° 5.722046 x 10°® - 8.583069 x 10°° - 6. 008148 x
10°° 6.198883 x10"°
A% = -4.016424x10°% 3.795733x10°% -5.219713x10"*
8 x® = -1.717186 1.595758 1.827168 - 0.7636838 - 0.763588
Is” | <107°
x* = -1.717186 1.595758 1.827168 - 0.7636888 - 0.763588 .
f x* =0.0539498217. 64
X*
Vg, x* Ts=0 Vg, x* 's=0 Vg, x* "s=0
s'ViL x* A* 0 Ts>0.
5.3.1 S S S $=0
L = 0.7597 . 4.3.1
1.5.2 x*
5.5.2
mntf X =X;X, X3 +X +X3 +Xg
s.t.g, X :Xf +x§+x§ +xﬁ-40:0
0, X =X X;XgX4 - 25=0
X; X X3 X, =0.
x®=1551".
4 2% % tX3 0 2% Xg Xq 2% tX X3
O X4 X g O X 0 O X O
Vi x =U i O v x =0 4 ! 0
O X% +1 U 0 X4 0 O X1 0
O g O O
UXy X +% +X3 O [PX; +X% +X3 X X 0 U
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E2N 2 0
oy, , 0 » O
Vg, x =0 "0 Vg x =0 0
[(Px; U H 2 E
g d
[2)(4|:| U 20
KeXaXs 00 XX XX XXz
Ekl X3Xy 2 Eks X, 0 XiXg XX B
Vg, x = Vig, x = .
Ky X %4 O DKo%y XX, 0 X% 0
U
[X; XoXg [ DoXg X X3 X% 0 [0
(g, x )? 5.5.1 1* =1
x®=1551"
58 41 41 200 0
Ca1 248 200 41050 =
mn=s s ss 0O (H°0+ 121211 0°0
2 gll 200 248 41 0 (s, 0
20 41 41 5600k 0 A

Ss.t. 25, +10s, +10s; +2s, =- 12
255, +55, +55, +255, =0

§=-1 §=-5 §=-5 §=-1

; 0.108108 [
<0 =g- 0.6145844% L :( - 27.31457)
g- 0.6354156 0. 9795051
0 0.141892 O
1
L. 1081087
L 0 o 4.3854160
X~ =X~ +s =0
o 364584
1. 141892D
5.36

+S

k+1
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5.36 5.5.2
k Xk Ak sk Ak+1
x®=1551 A%°=00
0 s® = 0.108108 - 0.6145844 - 0.6354156 0.141892
ALl = -27.31475 0.9795051

x 1 = 1.108108 4.385416 4.364584 1.141892
1 s' = 0.02349126 - 0.0467844 - 0.06291676 O.04124546

A% = -2.253339 0.7053058
x 2 = 1.131599 4.338631 4.301668 1.183137

2 s? = -0.07769799 0.0853529 - 0.08950281 0.08318424
A° = -0.1865068 0.5693744

x ® = 0.7544838 4.639303 3.788626 1.885193
s? = 3.248453 x10°° 3.480911 x 10°° - 4.053116 x 10" ° - 9. 334087 x

9
10°°
A% = -0.1798344 0.573539
x 1 = 0.7545162 4.639338 3.788622 1.8851
0 s = 2.920628 x10°° 4.863739 x 10" ° - 6.270409 x 10 ° 3. 695488 x
10°°
A = -0.1798049 0.5735412

1 x ' = 0.7545192 4.639386 3.788559 1.885103

Is® || <10°*
X = 0.7545192 4.639386 3.788559 1.885103
f x* =16.84921. 66

*

X
A, =0.5735412 >0

Vg, x* Ts=0 Vg, x* Ts=0
S'ViL x* A% 0 's>0.
5.3.1 S S S =0
_(2.1104 0.3641

“10.3641 1.0775)
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1
A7 = -0.1620555 0.5522918
x ' = 1 4.743034 3.821128 1.3794
s’ = 0 -3.767014x10 ° 2.598763 x10 > 7.748604 x10 " °
A% = -0.1617455 0.5522937
x® =x" +s’ = 1 4.742997 3.821154 1.379408 .
f x® =17.01402. 53
5.6
V2 x K ViL x € oAk
Fletcher
5.6.1

mnf x . 5.6.1

f x x K

f x =Qx =fx* + W x* T x-xX +%x-xk TV xk x-x®

5.6.2
VEx® x-x* +Vvix® =0 5.6.3
5.6.1 . 5.6.3 minQ X KT VQ x =0.
x X VZ x
x=x* - Vf x* "1vfx* 5.6.4
5.6.4 X x X, X"



5.6.1 KT Vi x =0. X"
f x . 5.6.4 x x“ X x X
1 .
Q x f x 5.6.4 x fx
x K =x K g x-x K 0<q<1.
ViE x
X" f x Vi x
Vi x By
ViE x K :
k+1 B.., Kk B,
5.6.2
Vi x ~VEx® + Vfx® x-x¥ . 5.6.5
f x 5.6.5 “ K
6  =x-x* y*¥=vfx - Vfx*k V2f x Bys1
B8 =y <. 5.6.6
5.6.6 . B C.=By.1 - By
Co“=-Bs" +y~. 5.6.7
5.6.6 C, g T8k = w* Tk =1
qk Wk
Ck:-Bkak qk T+yk wk T 5.6.8
Ck:'Bkai lzk TkBk YKkka kT
) B.6 o y
Cy =By41 - By
k k T
By =B - 02 kBk+”kk”Tk kT. 5.6.9
o B.6 o y
5.6.9 BFGS Broyden-Fletcher-Galdfarb-Shanno
1992 .
B, BFGS By
5" Ty">0. x-x x



A

Vi x X T(x-xk <0 x =x “*1
VLS TV
fok+1 TXk+1_Xk >fok TXk+1_X
5% Ty¥ >0
5.6.2
min f x O
stg x =0 i=12 I g
g x =0 i=l+11+2 mg
x=l, i=12 n 0
min%TVika A u s+ VxS Ts
s.t. Vgixk s+g X =0 i=12 |
Vgixk Ts+gixk =0 i=1+11+2
s,;ll-xlk i =12 n
s=x-x " .5.4 5.6.10
k k k
ViL x“ A% u
V)Z(ka A
Bk
5.6.11 KT
VAL x* A% w®* x-x® +VLx® A pu
5.6.3 BFGS
ViLx  ak ut VF x K
5.6.12  5.6.3 VL xX
A n KT 8 Ty >0
BFGS Bysy Bysy
k k k
Y 4 B.o

n

“ =0y + 1-6Bs ",

3
OmOoommond
o1
o)
[EEY
-

5.6.10

M
=0. 5.6.12
k
Y
13
Ponell 1978
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5K =y Ky k yk:VXLXk+1 2K Mk -VXka 2K Mk
1 6 Ty¥=026% B "
0= 0.8 5" "By " kK Tk KT k
5% Ty¥<026% Bo
5~ TBkak_ak Tyk K
BFGS
Bs* 5% B K K T
Bk+l = Bk - : kK T K L k(n-r K 5.6.13
s "Bo 8 Ty
x X )
Xk Xk+l ka+1 <f Xk xk+1

| m
Px =fx +¥rlgx |- 3 nmnog x -3 rpmn0x - |
! [

i=1+1 i=1

n

|
P x =fx +Ziri(gix )2+Zri(m'n09ix )2+Zrnw-(m'n0>q-li )2.

=+ i=1
L, L, r>0i=12 m+n.
QB x* 5.6.11 ViL x A p " B,
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3 X 1 + s1
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|s? | <10°* :
X, = 21.92% x,= 11.60% X, = 41.04% x,= 18.79% X, = 6.65%.
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min f x =% X Hx

St X+ X+ X+Xx,=0
0.035x, + 0.08x, + 0.0625x, + 0.09x,= 0.032
08=x=-03 07=x%=-03 05=x%=-05 1=x=0.
X = X X X5 X
KT
0.195x, + 0.225x, + 0.255%, + 0.315x,- A, - 0.035),=0
0.225x, + 0.725x, + 0.49%, + 0.755x,- A, - 0.08),=0
0.255x, + 0.49x, + 0.42125x, + 0.5875x%, - A, - 0.0625),=0
0.315x, + 0.755x, + 0.5875x, + 0.86x,- A, - 0.091,=0
Xp+ X+ X+ X, =0
0.035x, + 0.08x, + 0.0625%, + 0.09x,= 0.032
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0.25x, + 0.75x, + 0.49x, + 0.7Bx, - A, - 0.0BA, % +03 =0
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x ' = 10.06334 5.346138 20.07246 8.775698 5.742367
s’ = 4.610062x10°? 1.22952 - 1.601856 0.3972416 - 0.1399269
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